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29. A two stage circuit is shown in Figure 7. It’s BJT parameters are §1 = 61 = 100, [10]
Vee1 = Veez = 0.7V. Calculate the Q point, input impedance, output impedance.
voltage gain and current gain of the circuit

VCC = +10V
R1
100k
1
N | Q1
.
Q2
+ Vin R2 npn2
- 50k cC2
11
10pF
RE
v 1k Vout

Figure 7: Question 29

Answers: Ig; = 0.1889uA  Ic; = 0.01889mA I = g2 = 0.01908mA

Ico = 1.9079mA  Igy = 1.927TmA  Vgy = 1927V Vgo = 10V Vege = 8.073V
rep = 137.64kQY  rpg = 1.363kQ  Z; = 33.22kQ  Z, = 29.36682  Ai = 101

Ain =101 A;; =3235 Ay; =09868 Ay =0987 Ay =09737
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